(19 AAREHRIT (J P) a2 4% § ¥R (B2) A FarES
K irE32183278
(P3218327)
(45)3BfTH ERE134E10A15H (2001. 10. 15) COF|RE FHK13F 8 A10H (2001.8.10)
GInt.CL" AL FI
GO1B 7/30 101 GO1B 7/30 101A
G01D 5/20 G01D 5/20 )
HREOKE (& 7 B
(21) HEERS R 11 —255794 (73) FartEE 391012327
HOAER
(22) HiggH 11459 A 9 B (1999.9.9) RERERRART TH3E1 S
(T)RWE  EE B
(65) nHES HBH2001 —82913( P2001 —82913A) FEICHRSOSKARE 1 — 1 —21-505
(43) 2284 134 3 A30H (2001. 3. 30) (TRME  WE RBE
wEWRB HRR114E9 A 9 H(1999.9.9) THERGE - Bl 2 —10—70—307
(T)RHE HE WR
HEERILFNIRILF)I1 —42— 8
(T R A 100058479

FHtE @1 B (o8
FEE 0OA AR
(658) A& L 7= ¥ (Int.CL” , DB#A)

GO01B  7/30
GOID 5/20

(64 (DR AERHEY

C1))



)

0
0
0
0

Y

0
0 0

Y B

., fcos & 1atcos 8 5,

A= —sin’ 2C05 w

2sinwcos

. cos & 1ptcos 8 o
¥ = sin 2cos wcos

cos 8 z—cos 8§ oa
a — cos'1 _—



®

cos 8 12+cos 8 54
- _sin—1 ———
2c05 w

. fcos 6 1a—cos 0 g5
@ = cos 2sinwcos f3

_ . fees & ptcos 8 5
y=sin 2c05 weos 5



_ feos 8 1atcos 8 2a
A= —sin’ 208 w

. feos 8 1a—cos B 5y
&= COS 2sinwcos 8

., feos 8 wtcos bz
¥ = sin 2008 w cos 3

*)

[



12

®

10
16

14

N

<l

22a

(o)




3
=
H
BiaT N2zl 28RN
(mV) 80 T T T T
60
40
20
a
(a) 0
20
-40
-60
6o 1 2 3 4 5
(X10e-6 sec.)
() ﬂz:f:vz@IZEETéﬁlﬁ(m‘n #2201 L24bi- RE T SRR
80 T T T 80 T T T T
B0 &0
40 40 1
20 20
20 20t 1
40} 40t 1
60} {1 -6ot
0 53 4 5 %G 7 7z 4§ 4 3
(X 10e-6sec.) (X 10e-6s6c.)
{ 6 12t 3ED) { 8 zolc D)
(b) ©

(©)

BEEHA EORER
200 i
100 ;
0 SR
-100 f f
-200 f
-300 SR .
400 ; i :
40 60 80 100 120 140 180
AR [deg]
E1O1L22blZ4 U RN
(mV) 8o T T T T
60
40
20|
da
(a) 0
20
-40
80
g 1 2 3 4 5
(X10e-6 sec.)
v)iﬁz::-r W24l XET HREH - F23 4 240l RET 2 ERH
m m
80 T T T 80 T T T
60 60}
40+ 40
20 20
0f 0
-20 20}
40+ 1 40+
80+ 60}
1 1 1 1 1 Fl 1
By 3 4 5 99 3 4 5
{><10e-Bsec.) (X 10e-6sec.)
{ 8 1piC3H) (@ sl REHS)
(L)) {c)
y
z, , 10
23‘ 13:;; s
’)r < 192 15(de ]G
i ] @ 4
47.5] \ g 14
L - 10
14

12
(b)



300 350

)

200

I S R

150

[N S

250

100

50

A—-A jdeg)

200
5
=100 |-




